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Ritp:/ffarbe i tu-berlin.de/ CEF2/CEF2LONA. TXT 7.PS; start oufput
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu2 standard lightnessl*

Ya=Yw - nc=100,

"L aganDu2 =IN(A 10+ AnY)(AgnAon)  (Ya/100<Y<=Y,o)
I* LaganDu2 =IN(A 10+A2 )/ (A2Aon)  (X=YIYy)
I*\(3,6)=174* ,(18)=396,* ,,(90)=616

application
range

%=1
Pw=5

LABJINDu2

tristimulus value difference

Yo=Y - nc=100,
I* LABINDU2 =IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yyo)
I* L ABINDU2=IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aonpes=1,5, Aon a=1,0, see CIE 230:2019 »

I* ;=396 dY,=0,15 dY,/Y,=0, 0087

log AY/Y) LABJNDu2
_ tristimulus value sensitivity
SEE) Yoc=Yw nc=100
I*LABINDU2 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
I*LABINDu2=IN(A 17+ A2) (A2 Aon) - (X=YTYy)
AYIY=Agn(A 1A Y)Y=Agr(A 1AL XY

~
N
1

1
1x,=1
xN=0,2 Xw=5

LABJINDu2

tristimulus value contrast
Yoc=Yw nc=100
I*LABINDU2 =IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yno)
L aganDu2 =IN(A 10+ A2X)/ (A Aon)  (X=YTYy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

I*,=396 dY,=0,15 Y,/dY,=114 ~ _ _ _

application
range

1
sl
xN=0,2  Ixy=5

LABJNDu2 relative standard lightnessl*/I* ,
I Yoc=Yw - nc=100,

11 ABINDU2 =IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yo)

1* | ABaNDu2 =IN(A 10+ A2X) (A2iA0n)  (X=Y1Yy)
1N (3,6)=174 ) ,(18)=396,* y(90)=616

L* =49, =396

log(AY/AY,) LABJINDuU? relative

tristimulus value difference
NNy Yoc=Yw - nc=100,

1L ABINDU2 =IN(A 17+ A2Y)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU2 =IN(A 17+ A2)(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)

V.

I
1 application
1 range

=1
Xw=5

log [(AY/Y) 1 AYIY),] LABJINDuU? relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
1L ABINDU2 =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)

11 ABINDU2 =IN(A 10 tA2)(A2uAon)  (X=YIYL)
(AY/YY(AYIY)=[(A 1+ A )X (A 17+A20)

e
Iog[(dY/Yy(dY/YL] -0, m=-015 1
1 application
I,=396 dY,=0.15 d¥,/Y,=0,0087, X
%=1
XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDuU? relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

1L ABINDU2 =IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU2 =IN(A 17+A2)(A2uAon) - (X=YTYL)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)

application
range

LABJNDu2 standard lightnessL*

YoeL*w -~ nc=100

L* L ABINDU2=IN(A 15+A2nY)/(A2rAcn)  (Ynd/100<Y<=Y,0)
L* 1 aBaNDu2=IN(A 10+ A2 X) (Ao Aon) - (X=YTY)
L* (3,6)=174.L* (18)=396,L* ,,(90)=616

CEF21-1A

logAY) LABJINDu2
AY tristimulus value difference

Y=L w nc=100,
L*Laganpu2=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpu2=IN(A 1t A2 X)/(A2iAon)  (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

4

15 dY,/Y,=0, 0087

CEF21-3A

log (AY/Y) LABJINDuU2

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

L*Laganpu2=IN(A1n+A2nY)/(A2nA0n) - (Yac/100<Y<=Y,o)
L*Laganpu2=IN(A1nt A2 X)/(A2Aon)  (X=YTYy)
AYIY=Por(A iAo Y)Y =Agr (A it AgX)/Y

1
1
1x,=1
XN=0,2 Xw=5

CEF21-5A

log (Y/AY) LABJINDu2

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

L*Laganpu2=IN(A1n+A2nY)/(A2rA0n) - (Yac/100<Y<=Y,o)
L* LABINDU2=IN(A 15+A2) (A2 Aon) - (X=YTY)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

application
- range

=l
Xw=5

CEF21-7A

CEF21-7N

TUB-test chart CEF2; LABINDY2*(Y) & L*(Y), Yn=(Y&L*) wnc
Absolute and relatlve lightness, sensmwty and contragt=Ab5, An=0, 017 Agn—O 0049, /&u—o 08

LABJINDuZ2 relative standard lightnessL*/L*

LHIL* YocmL*w -~ n¢=100,
L* L aganDu2=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Y,o)

L* aaNDu2=IN(A 1t A2X)/(AoAgn)  (X=Y/Yy)
L*n(3,6)=174 L% ,(18)=396,L* /(90)=616

L* ,=49,L* ;=396

CEF21-2A

log(AY/AY,) LABJINDuU2 relative

tristimulus value difference
AYIAY, Ve irl
L*LaganDu2=IN(A1n+A2 ) (A2rAn) - (Yad 100<Y<=Yyo)
L aganpu2=IN(A 1ntA20X) (A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

1 application
1 nge
%=1

CEF21-4A
log [(AY/Y) | (AYIY),] LABJINDuU? relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L*LaganDu2=IN(A 17+ A2 Y)(A2rAon) - (Yad/100<Y<=Yyo)

L aganpu2=IN(A 10+ A20X) (A2uAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

S
log[(dY/YY(dY/Y)]=0, m=-0,15 1~ ~ T__ _.
L* =396 dY,=0,15 dY,/Y,=0,0087, ?g’npg','ga""”
%=1
XNn=0,2 Xw=5

CEF21-6A
log [(Y/AY) I (YIAY),] LABJINDuU? relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

L*LaganDu2=IN(A1n+A2Y)(A2rAon) - (Yad100<Y<=Yyo)
L aganpu2=IN(A 10t A2X) (A2pAon) - (X=YTYY)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)

L* =396 dY,=0,15 Y,/dY. ~xd” 1
s 1 application
4 1 range
%=1
XNn=0,2 Xw=5

CEF21-8A
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